Ground Combat

Ground combat is resolved in phases. The 5 phases are one combat round. The phases are as follows:

1) Air Units

2) Artillery

3) Cavalry

4) Infantry

5) Retreat or repeat

The phases are executed in the order listed above, and combat ends immediately if all units on one or both sides are eliminated. Thus, if one player’s artillery destroys all enemy forces in the first phase, there is no cavalry, infantry or retreat phase, and the battle ends.

Air Units:

During the air units phase in the first round only, each player gets to attack once with his air units, if any. If none of the players have air units, combat proceeds to the next phase. If both players have air units in the battle, casualties go towards these first during this phase, and ground units only when all enemy air units have been destroyed. After the first combat round, the air units phase is skipped. 
Artillery: 

During the artillery phase, each player gets to attack with his artillery units, if any. If none of the players have artillery units, combat proceeds to the next phase.

Cavalry: 

During the cavalry phase, each player gets to attack with his cavalry units, if any. If none of the players have cavalry units, combat proceeds to the next phase.

Infantry: 

During the infantry phase, each player gets to attack with his infantry units, if any. If none of the players have infantry units, combat proceeds to the next phase.

Retreat or repeat:

The attacking player may decide to retreat his forces during this phase. If he retreats, he must move his forces to one nearby region. If a nearby region is under control of the attacking player, he must retreat there. If there are several such regions, he gets to choose one of them. If there are no nearby friendly regions, he must retreat to a neutral region. If there are no neutral regions nearby, the attacking army is destroyed. 

Note that a region with an undefended city does not count as neutral, and thus can’t be retreated to unless the city is under the attacker’s control.

Combat Resolution

When rolling the dice in a combat phase, you roll a number of 6-sided dice based on the amount of and strength of your units. For each die that shows the units’ combat value or lower, you deal one hit of casualties to the enemy forces. 

The combat values depend on the phase and the strength of the unit. All artillery units have a base combat value of 1, cavalry units have a base combat value of 2, while infantry units have a base combat value of 3. Air units always have a combat value of 1 + the strength of the unit (2 for biplanes, 3 for monoplanes, 4 for jets, and 5 for stealth aircraft). Furthermore, the combat value is increased by the given unit’s bonus value. 

If attacking a settlement, the combat values for all attacking forces except artillery, is reduced by 1, to a minimum of 1. If attacking a settlement controlled by a player who owns the Great Wall wonder, the combat values are instead reduced by 2, still to a minimum of 1. Against the Great Wall, even artillery has its combat value reduced by 1. The Great Wall penalty replaces the penalty for attacking settlements.

Example: The combat value of a Cannon (3 dice +1) is 2 (Base number for artillery is 1. Add the +1 to get 2).

Example: The combat value of a Mechanized Infantry (4 dice + 2) is 5 (Base number for infantry is 3. Add the +2 to get 5).

The number of dice to be rolled is equal to the amount of units x their era. For example, if you attack with 3 Catapults, 2 Knights and 4 Spearmen, you roll 3 dice during the artillery phase (3 x 1), 4 dice during the cavalry phase (2 x 2), and 4 dice during the infantry phase (4 x 1). 

When rolling the dice, a die showing the attacking units’ combat value or lower is considered a hit, and deals 1 hit to the opposing side. At the end of the phase, each side must remove a number of units based on how many hits they took during that phase. A unit can take as many hits as its era value. You can never allocate more or less hits to a unit than its era value. Once a unit takes as many hits as its era value, it is removed from the game.

When a player deals hits to the opposing side, he must state one type of unit (either artillery, cavalry, or infantry). The type of unit can be decided after hits have been rolled. Casualties must be removed from this group of units first. Only leftover hits after allocating hits to this unit type can be allocated to other unit types. The exception is air units, where no unit type is stated, and casualties always go towards other air units first.

If one side is unable to place all received hits among its units, the excess hits are put aside for use later. Use counters or note the value on a sheet of paper. These hits are added for each phase until they can be placed on a unit. If combat ends and there are excess hits that can’t be placed, these hits are removed. 

If you have leftover hits to allocate at the end of a phase, you must allocate them immediately if they would destroy one or more of your units. Only if you are absolutely unable to destroy units by allocating your leftover hits, can you save them for later phases.
Air units can only take hits during the air unit phase. 

Example combat:

Dave is attacking Laura in one of her settlements. None of them control the Great Wall wonder. 

Dave’s forces are: 3 cannons, 2 knights, 1 dragoon, and 3 riflemen.

Laura’s forces are:  2 trebuchets, 1 cannon, 2 dragoons, and 4 riflemen

The first phase is air units. Since none of the players have any, play proceeds to the next phase: Artillery. Here both players have 3 units. Dave has his 3 cannons, while Laura has 2 trebuchets and a cannon. The attacking player rolls first. Cannons’ listed combat statistics are 3 dice + 1, which means that their combat value is 2 (1 is the base number. Add the cannons’ +1 to this number. Since this is the artillery phase, Laura’s settlement does not decrease this value, although it would have been decreased by 1 if she had the Great Wall). Laura’s trebuchets have a combat value of 1, since they have no bonuses listed. Her cannon has the same combat value as Dave’s cannons.

Dave will have to roll 9 dice during this phase (3 cannons X their era, which is 3). He rolls: 6, 3, 2, 2, 2, 1, 4, 5, 6. Since his combat value is 2, he deals 4 hits to Laura’s forces. These hits are not allocated until the end of the phase, so Laura gets to attack back at full strength.

Laura must roll two different pools of dice, since she has two different combat values among her artillery units. She decides to roll for her trebuchets first. She has 2 trebuchets, so she rolls 4 dice (2 trebuchets X their era, which is 2). She rolls: 6, 5, 2, 1. Since the trebuchets have a combat value of 1, she deals only one hit. She then rolls for her cannon. She rolls 3 dice (1 cannon X its era, which is 3) and gets: 3, 3, 1. Against a combat value of 2, that is one hit. She has dealt a total of 2 hits during the artillery phase, while Dave dealt 4.

Casualties must now be inflicted. Each side must choose a type of unit to damage first. Dave decides to deal damage to infantry first, while Laura decides to deal damage to cavalry. Dave can’t inflict this damage against his gunpowder-era units, since they can take 3 hits and he only has 2 to allocate. As long as he can allocate the points fully to lesser units, he must do so. Since he has two knights, both with 2 hit points each, he can allocate the hits to one of them. He removes one of his knights from the game. Laura received 4 hits. She could choose to remove one gunpowder-era unit and keep one hit in reserve for later phases, or she could remove two medieval-era units. However, Dave told her to allocate damage to infantry first, so she has no choice but to remove one rifleman. She takes a counter to indicate that she has one point of leftover hits that she can’t allocate to any of her forces. Play proceeds to the next phase.

In the cavalry phase, Dave has 1 knight and 1 dragoon, while Laura has 2 dragoons. Dave’s knight and dragoon both have a combat value of 1 (base value 2, no bonuses to add, subtract 1 for attacking a settlement). Laura’s dragoons have a combat value of 2. Since Dave’s units all have the same combat number, he can roll for all of them at once. He must roll 5 dice (2 for the knight, and 3 for the dragoon), and rolls: 5, 4, 5, 3, 1. One hit! Laura must roll 6 dice, and gets: 1, 4, 1, 6, 3, 2. She deals 3 hit.

Both Dave and Laura decide to deal their damage towards infantry units first. Dave has taken 3 hits, so he must remove one of his riflemen, with no leftover hits. Laura took only one hit, but she also has a leftover hit from the last phase. Even these two together can’t take out any of her riflemen, so she’s free to choose among other unit types instead. Her only option is to destroy one of her trebuchets, so she does so. She removes her counter indicating the leftover hit, since she has now allocated it, and play proceeds to the infantry phase.

Fleet Combat

Combat between naval fleets work just like ground combat, except that there are only 3 phases:

1) Air units

2) Fleets

3) Retreat or repeat

Players can’t decide what type of units to inflict casualties to in fleet combat. Fleets have a base combat value of 2. 

